How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?

100120 7 | S | 1

Target Number = 25¢

How close can you get to
the target using the
humbers below and
+4 =9 X OY +?

50|10 6 | 4| 3

Target Number = 413
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www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y 7y X OY +2?

30(20(22|20]| S

Target Number = 547

How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?

2001 S | S]] 2|1

Target Number = 79

www.davlae.co.uk

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y =y X OY +2?

75120|110| 8 | ¢

Target Number = $0¢

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?

90|15 (10| 3 | 1

Target Number = 165

www.davlae.co.uk




How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?

6025|120 8 | ¢

Target Number = 319

How close can you get to
the target using the
humbers below and
+4 =9 X OY +?

150(30 (20| 14| 10

Target Number = 685

www.davlae.co.uk

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y 7y X OY +2?

200150112217 ( S

Target Number = 443

How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?

12112 |12 8 | §

Target Number = 302

www.davlae.co.uk

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y =y X OY +2?

60115112 |120| 3

Target Number = 264

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?

25|40 (25| 9 | ¢

Target Number = 539

www.davlae.co.uk




How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?

300140 25] 2 | 1

Target Number = 731

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+4 =9 X OY +?

751251101120 ]| S

Target Number = 398

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y 7y X OY +2?

401302010 20

Target Number = 645

www.davlae.co.uk

How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?

80|130|15(12 |10

Target Number = 20¢

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y =y X OY +2?

100|100| 30 | 10| 7

Target Number = 952

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?

109|876

Target Number = 289

www.davlae.co.uk




How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?

How close can you get to
the target using the
humbers below and
+4 =9 X OY +?

3912811710 1

100|150 (25|10 | 10

Target Number = 81

Target Number = 651

www.davlae.co.uk

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y 7y X OY +2?

How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?

100|40|20| 1 | 1

125125112 (12| 1

Target Number = 678

Target Number = 180

www.davlae.co.uk

www.davlae.co.uk

How close can you get to
the target using the
humbers below and
+y =y X OY +2?

How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?

1111019 (8| 7

1001302511 | 3

Target Number = 248

Target Number = 591
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